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PHYSICAL EDUCATION
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ACADEMIC
[Time allowed: 3 hours] [Maximum Marks: 60]
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GENERAL INSTRUCTIONS: -

*Question no. 1 to 15 are objective type questions carrying 1 mark each.
*Question no. 16 to 21 are Very Short answer type questions (with internal
choice in question no. 16 and 17) carrying 2 marks each.
*Question no. 22 to 27 are Short answer type questions (with internal choice in
question no. 22 and 23) carrying 3 marks each.
*Question no. 28 to 30 are Long answer type questions (with internal
choice in all three questions) carrying 5 marks each.



SECTION-A
(OBJECTIVE TYPE QUESTIONS)

Y -1. 34 101 & 1P -3 gHHE & YR R Fd fha AT g 2
() 31 @32 (M33 (M35

The total number of matches in a knock out Tournament of 34 teams.
(a) 31 b) 32 (c) 33 (d) 35

Y 2. TR A fagpfa fey o 3 gwafia 8 2
@) W @RR @) PASDHITTH (I B
Scoliosis is a postural deformity related with
(a) Foot (b)Head (c) Vertebral column (d) Hand

Y 3. e erqgarwawe ?
(@) TSG  (@)3fET (MNgy  (d) bl

The main source of Vitamin C is
(a) Guava (b) Egg (c) Milk  (d) Banana

uy 4. e tsdu S fPasr fRmwears 2
@) T (@) Aiex ey () gg-RIfad (9) T

Sit and reach test is conducted for
(a) Flexibility (b) Motor fitness (c) Endurance (d) Speed

U4 5. Yed & dR Fau &t W Fed & |
(@) eI &1 Fgd (@) fopan ufafear &1 g
@M MasI g @) 9igd &1 g

The Newton’s third law of motion is also known as

(a) Law of inertia (b) Law of action and reaction
(c) Law of momentum (d) Boyle’s law

Y 6. WIdaA®d uikreor fafy fea x4 o gs »
(F) Wie (@) ARSI (1) HRd (¥) TS

Fartlek training method was developed in

(a) Sweden (b) The USA (c) India (d) England.




UH 7. (cooeeernnns ) &I fIRy Naffe & JIRITUS & Y A SET ST 8]

(ceeeennnnn. ) is known as founder of Special Olympics.

T 9. (eveeerennnn. ) ST T 8 o Wie= & a1¢ ft frar ST aear g |

(coreenennn ) is the only Asana which can be carried out after meal also

WY 10. ST ATATRRN &1 =1 e i 6 ?

What is main objective of intramural activities?

Uy 11.39 Rl &1 7w  Rrrd R gowar 9ga ST )

Name the deformity for which horse riding is very useful.

Uy 12. Ft ARY-UT A B9 yuHIfaa giarg 2

Who is affected by Green Stick Fracture?

(fUB YA/ BRUT (ASSERTION/ REASONING)

g sy T TT § 1| TP &1 AFUFUT (A ) RGN B HRUI(R) S FUH
E'R’Iqu LI % | Hﬁ DY ?;{ﬁ'E | There are two statements which are stated below
and labelled as Assertion (A) and Reasoning (R). Choose the correct answer.

Y -13 TUBHYU (A) — AT IR AR Y R T $H a1d Tl b (T Sid

i) FETaAT R |
PR (R) -oig Tie! RAaisdl & UerH # YR & § Tgradl Hdl § |

el faeea g9 | 3R -

3 UHU (A) T8 & A HRUN(R) TAd G |

q) 3P YT (A) TAd & AfPT BRUI(R) eI B |

) (A) 3R (R) GHI TEI g 3R (R) ; (A) P Ug! AR IR ¢ |
@) (A) 3R (R) T T&l & Afdh (R) ; (A) P! TG! ARSAT g1 el |

Q13. (A) ASSERTION: The study of human body and various forces acting on it
Is called Biomechanics.



(R) REASON: Biomechanics helps in improving the performance of the players.
Ans: select the correct statement

(@) (A) is right but (R) is wrong

(b) (A) is wrong but (R) is right

(c) (A) and (R) both are right but (R) is not correct explanation of (A)
(d) (A) and (R) both are right and (R) is correct explanation of (A)

Uy 14 . AfUBYT (A) : TSI A TS Pl gdcace soad Ut HeT ST gl
PRUT (R) : dI. TH.3M5. Bl Sl gdcale - 41830 -1850 & 9
ey forar / Suded HY=T & SMUR W gl fawew g /

IR —

3 AYHYF (A) T8 § AfHT PR (R) TAd 2 |

) 3ANHYT (A) TAd § Afed HRUI(R) TBI B |

) (A) 3R (R) aHT TE1 § 3R (R) ; (A) ) T AT HRATR |

3 (A) 3R (R) ST GET & B (R) ; (A) P e} e T bl |

Q14. ASSERTION (A): Body Mass Index is also called as Quetlet Index.
REASON (R) : BMI was developed by Adolf Quetlet in 1830-1850.

Ans : select the correct statement

(@) (A) is right but (R) is wrong

(b) (A) is wrong but (R) is right

(c) (A) and (R) both are right but (R) is not correct explanation of (A)
(d) (A) and (R) both are right and (R) is correct explanation of (A)

uy 15. AfUHYT (A) : Bp! s TH ufrervr Ipi # g 91 8
PRU (R) : 394 aiftfes ufRreror areqr & g+ 52 Itarg e gid §
ST YA & MMYR W ! fawed gHT /

I -
31 YHYF (A) T8 & Afbd HRU(R) TaAd ¢ |

q) 3IMBYT (A) TAd & AfPT BRUI(R) el B |

) (A) 3R (R) GHI TEI g 3R (R) ; (A) P Ug! AR IR ¢ |
@) (A) 3R (R) T T&1 8 Afdh (R) ; (A) P! TG ARSAT g1 el |

Q15. ASSERTION (A): Macro Cycle is the largest of all training cycles.



REASON (R) : It includes all 52 weeks of the annual training plan ..

Ans: select the correct statement

(@) (A) is right but (R) is wrong

(b) (A) is wrong but (R) is right

(c) (A) and (R) both are right but (R) is not correct explanation of (A)
(d) (A) and (R) both are right and (R) is correct explanation of (A)

SECTION-B
(VERY SHORT ANSWER TYPE QUESTIONS)

WY 16. §t. TH. 3AT3. TT g SHB! TUMT HI1 &1 G fafae |

What is B.M.I. Write formula to calculate it?
31Ydl (OR)
qadd- & fafid YR #F-319 T ?What are different types of

equilibrium ?

Uy 17 affue Tdl § 3F d& fF9-frg yrdig afgar faarst 3 e

Gﬂ?IT% ? How many Indian women sportsperson won medals in Olympics?
Write their names.

3[YdT (OR)
wrufire fafeer d smueT Far IfHYUT 8 2 What do you mean by First-Aid?

Y 18. ATSABIZACP UTITH FT§ TP IS8T & | What are Isokinetic

Exercises. Give an example.

UY 10, WG SNTIWET F ST T HFA § 2

What do you know by Food Intolerance?

WY 20. gHHE & SR TGP Afufaal @t gat a1 | List down the

important committees during tournament.

Uy 21. Wal A GTIWITWW'IT?RIT% ? What is aggression in sports ?

(SECTION-C)
(SHORT ANSWER TYPE QUESTIONS)




uy 22. fafid UpR & 94 Idd! B et BT I BN |

Mention the various types of Soft Tissue Injuries.
Y4l (OR)
SIFRY- 4T T % 3'\‘1% UHRI R TGl HY | What do you mean by Fracture ?

Discuss the types of Fractures.

Y 23. WIS YRR f[APpiadl @t AT Y | HISHIRG & HRT 3R
TTaYTf~ral ®1 ATAT B | Explain spinal postural deformities. Explain
causes of Kyphosis and precautions to avoid it.

3{YdT (OR)
ATTTRT & SR ST Bt favzrarsi ) e o3

Explain development characteristics during childhood.

Y -24. ATER & NS 3R R Ve a<d HIF- B9 A § ? TS BN |

What are nutritive and non-nutritive components of diet?

Y 25. NP-313e fAfyr F 24 HAi & fore fhemr AR ®3| Draw Knock-Out

fixture for 24 teams.

WY 26. TH HTHT THE Y THEU $4 H G&d 8 ? fawar 9 a0 |

How can we conduct General Motor Fitness Test? Explain in detail.

Uy 27. Yfafrar & 4T a1 &t Gl HE arelt A P fore g agnfae &t

ﬁ{ﬁmmavhaﬁ | Discuss the role of a Psychologist for a team
.Preparing to participate in competition.

(SECTION-D)
(LONG ANSWER TYPE QUESTIONS)

Uy 28. fa=iw smazgasr are (CwsN) g= & fore Imiifve afafafert i
Wﬂﬁﬂﬂﬁ?ﬂ?m P URSAT BT | Explain any three

strategies to make physical activities accessible for CWSN.

3{YdT (OR)
Oy sazgsdr 9t T & forg RS nfafafird foa verR Jerae @

? How are physical activities helpful for children with special needs (CWSN)?

Y 29. e & Tfa & o o1 Gau § quiq a1

Enumerate various Newton’s Laws of Motion in brief.



3{YdT (OR)
AYHT T 8 Yo &1 ufspar, @y iR faudia dal &1 quia &% |

What do you mean by Diabetes? Discuss the procedure, benefits and
contraindications of Bhungasana.

WY 30. Ye-RIGd T8 ? 3P [ap B! faftri &1 aufq S |

Explain various methods of endurance development.

31T (OR)
U107 & R SAfAHR 3R Srg@a & o1 T & ? What is relationship

between load and adaptation during training programme?
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